



St. Louis County, Minnesota

Date of Report: 5/15/2025 3:39:12 AM

General Details

 Parcel ID:
 387-0396-00060

 Document:
 Abstract - 01486886

Document Date: 04/19/2024

Legal Description Details

Plat Name: TROUT LAKE PORTAGE ADD T OF GREENWOOD

Section Township Range Lot Block
- - - 0006 001

Description: LOT: 0006 BLOCK:001

Taxpayer Details

Taxpayer Name TOUSIGNANT JAMES & JENNIFER

and Address: 4570 BALSAM LN N

PLYMOUTH MN 55442-2929

Owner Details

 Owner Name
 MURPHY REGAN LYLE

 Owner Name
 TOUSIGNANT JAMES

 Owner Name
 TOUSIGNANT JENNIFER

Payable 2025 Tax Summary

2025 - Net Tax \$1,919.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$2,004.00

Current Tax Due (as of 5/14/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,002.00	2025 - 2nd Half Tax	\$1,002.00	2025 - 1st Half Tax Due	\$1,002.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,002.00	
2025 - 1st Half Due	\$1,002.00	2025 - 2nd Half Due	\$1,002.00	2025 - Total Due	\$2,004.00	

Parcel Details

Property Address: 95294 A PORTAGE BAY, TOWER MN

School District: 2142
Tax Increment District: Property/Homesteader: -

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity				
151	0 - Non Homestead	\$139,500	\$212,000	\$351,500	\$0	\$0	-				
	Total:	\$139,500	\$212,000	\$351,500	\$0	\$0	3515				





St. Louis County, Minnesota

Date of Report: 5/15/2025 3:39:12 AM

Land Details

Deeded Acres: 0.00

Waterfront: **VERMILION** Water Front Feet: 300.00

Water Code & Desc: Gas Code & Desc: Sewer Code & Desc:

Lot Width: 0.00 Lot Depth: 0.00

The dim

e dimensions shown are no os://apps.stlouiscountymn.ç						·Tax@stlouiscountymn.gov.	
		Improvem	ent 1 Det	ails (NEW CAE	BIN)		Ī
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
HOUSE	2004	76	8	960	-	CAB - CABIN	
Segment	Story	Width	Length	n Area	Founda	ation	
BAS	1.2	24	32	768	POST ON C	GROUND	
DK	1	4	34	136	POST ON C	GROUND	
DK	1	8	24	192	POST ON C	GROUND	
Bath Count	Bedroom Co	unt	Room	Count	Fireplace Count	HVAC	
0.0 BATHS	2 BEDROOM	MS	-		0	STOVE/SPCE, GAS	
		Improve	ement 2 I	Details (CABIN)		Ī
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
HOUSE	0	55	2	552	-	CAB - CABIN	

			iiiipiov	CITICITE Z L	Ctalls (OADII)	' /	
lm	provement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finisl	h Style Code & Desc
	HOUSE	0	55	2	552	-	CAB - CABIN
	Segment	Story	Width	Length	Area	Fou	ındation
	BAS	1	4	12	48	POST C	N GROUND
	BAS	1	18	28	504	POST C	ON GROUND
	DK	1	6	6	36	POST C	ON GROUND
	OP	1	4	16	64	POST C	N GROUND
	Bath Count	Bedroom Co	ount	Room C	Count	Fireplace Count	HVAC
	0.0 BATHS	1 BEDROO	М	-		0	STOVE/SPCE, GAS

	Improvement 3 Details (SLEEPER)									
	Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	SLEEPER	0	44	8	448	=	-			
Segment Story		Width	Length	Area	Foundation					
	BAS	1	16	28	448	POST ON GROUND				
	DKX	1	4	8	32	POST ON GF	ROUND			
	DKX	1	5	21	105	POST ON GF	ROUND			

			improvem	ient 4 Det	alis (8X12 SHEL	<i>)</i>)	
I	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
S	TORAGE BUILDING	1990	96	3	96	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	0	8	12	96	POST ON GF	ROUND
	DKX	1	4	4	16	POST ON GF	ROUND





St. Louis County, Minnesota

Date of Report: 5/15/2025 3:39:12 AM

		Improve	ment 5 Details	(SHED/LT)					
Improvement Type	Year Built	Main Fl	oor Ft ² Gros	s Area Ft ²	Basement Finish	Style (Code & Desc.		
STORAGE BUILDIN	G 0	6	4	64	-		-		
Segmer	nt Stor	y Width	Length	Area	Found	ation			
BAS	1	8	8	64	POST ON (GROUND	UND		
LT	1	3	8	24	POST ON (GROUND			
		Improvem	ent 6 Details (WOODSHED)					
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & I									
STORAGE BUILDIN			20	120	-		-		
Segmer	•		Length	Area	Found				
BAS	1	10	12	120	POST ON (GROUND			
		Improve	ment 7 Details	(11X11 DK)					
Improvement Type	e Year Built	Main Fl	oor Ft ² Gros	s Area Ft ²	Basement Finish	Style (Code & Desc.		
	0	12	21	121	-		-		
Segmer	nt Story	y Width	Length	Area	Found	ation			
BAS	0	11	11	121	POST ON (GROUND			
		Improv	ement 8 Detai	ls (PRIVY)					
Improvement Type	e Year Built	Main Fl	oor Ft ² Gros	s Area Ft ²	Basement Finish	Style (Code & Desc.		
STORAGE BUILDIN		1		16	-		-		
Segment Story			Length	Area	Found				
BAS	<u> </u>	4	4	16	POST ON (GROUND			
		Sales Reported	I to the St. Lou	is County Au	ditor				
Sal	e Date		Purchase Price	•	CF	RV Number			
04	/2024		\$525,000			285288			
09	/2003		\$50,000			155103			
		Α	ssessment His	story					
	Class		DI.I.	T -4-1	Def	Def	Nat Tarr		
Year	Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity		
	151	\$138,900	\$96,800	\$235,70	0 \$0	\$0	-		
2024 Payable 2025	Total	\$138,900	\$96,800	\$235,70	0 \$0	\$0	2,357.00		
	151	\$106,200	\$71,400	\$177,600	0 \$0	\$0	-		
2023 Payable 2024	Total	\$106,200	\$71,400	\$177,60		\$0	1,776.00		
	151	\$106,200				\$0	1,770.00		
2022 Payable 2023			\$71,400	\$177,600			4 770 00		
	Total	\$106,200	\$71,400	\$177,600		\$0	1,776.00		
2021 Payable 2022	151	\$106,200	\$55,200	\$161,400		\$0	-		
	Total	\$106,200	\$55,200	\$161,400	0 \$0	\$0	1,614.00		
			Tax Detail Hist	ory					
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Lan	Taxable Bu		al Taxable MV		
2024	\$1,447.00	\$25.00	\$1,472.00	\$106,20	0 \$71,40	0	\$177,600		
2023	\$1,571.00	\$25.00	\$1,596.00	\$106,20	0 \$71,40	0	\$177,600		
2022	\$1,629.00	\$25.00	\$1,654.00	\$106,20	0 \$55,20	0	\$161,400		





St. Louis County, Minnesota

Date of Report: 5/15/2025 3:39:12 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.